Odds Ratio/Relative Risk Worksheet
John Snow’s Cholera Study
Two companies provided water to London residents circa 1850. These were not geographically based (people on same street may have received water from different companies). John Snow conducted a detailed survey/census of homes to determine which company provided water and a count of cholera deaths. For the residents receiving water from the Southwark/Vauxhall company, there were YS = 3702 cholera deaths among NS =  264,913 consumers. For the Lambeth company consumers, there were YL = 407 cholera deaths out of NL = 171363 consumers.

	 
	Cholera Death
	Not Cholera Death
	Total

	Southwark/Vaxhall
	 
	 
	 

	Lambeth
	 
	 
	 

	Total
	 
	 
	 


Let S and E represent the population proportions of cholera deaths for the Southwark/Vauxhall and Lambeth companies respectively.

S = ___________________________________    L = _______________________________________
Relative Risk (S/V relative to L) = ________________________________________
Let S and E represent the population odds of cholera deaths for the Southwark/Vauxhall and Lambeth companies respectively.
S = ___________________________________     L = ____________________________________

Odds Ratio = __________________________________________________
Note: Based on sample data, the formulas for the standard errors of the logs of RR and OR are:
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The sampling distributions of ln(RR) and ln(OR) are approximately normal in large samples (when there are a reasonable number of occurrences of the outcome:

95% CI for log(Population RR) =  log(Estimated RR) +/- 1.96*SE(log(RR))

95% CI for log(Population OR) =  log(Estimated OR) +/- 1.96*SE(log(OR))

Exponentiate lower and upper and lower bounds to get CI’s for RR and OR
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